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F AKX
AKX R1L.2n KO6cm GeimmMIBRUVEOEHEL) S -
AKX R1L.2n RKO%m CGEiHmMIBRUVROEHEL) S -
AKX F1.2n RKO12m (EHMIBRUVROEHAL) S -
AKX R1.5m KO6cm CGeimmMIBRUVROEHAL) S -
AKX R1.5m KO9%m CGeiHmMIBRUVEOEHEL) S -
AKX F1.5m RKO12em (RIHMIBERUVRO EHAEL) S ok
AKX R1.5m KO15em (EHMIBRUVROEHAZL) S -
AKX (1)
BAKR R2n XO6em(EHMIBESL. ROEHAEL) S -
BAKR £2n RO7. Sem(EHMIBEL., ROEHALL) S -
BAKR R2n XO9m(EHMIBEL. ROEHAEL) S -
BAKR R2n XRO12m(EHMIBSE. RUESHAL) S -
[PTEIWN £2n XO15em (EHMIBSL., BOEHAL) x ok
BAKR R2n XKO18cm (EHMIBSE. RUESHAL) S -
BAKR £3n_ RO Sem (EHMIBEL., ROEHAL) S -
BAKR R3n XO9m(EHMIBEL. ROEHAEL) S -
BAKR R3m XKO12m(EHMIBSE. RUESHAL) S -
[PTEIWN £3n_ XO15em (EHMIEBSL., BOEHAEL) x ok
BHAKR R3m XKO18cm (EHMIBSE. RUEHAL) S -
BHAKR Fdm XO9%m (EHMIBEL. ROEHAEL) S -
BHAKR Fdm  KO12m (EHEMIBSE. RUEHAL) S -
[PTEAWN F4m  XRO15em (EHMIBSE., BEOEHAEL) x ok
[PTEIWN F4m  XRO18em (EHMIBEL., BOEHAEL) x ok
[PTEIWN £5m XRO15em (EHMIBESE., BOEHAEL) x ok
[PTEIWN £5m XRO18em (EHMIBESL., BOEHAEL) x ok
[PTTEIWN £6m XRO15em (EHMIBSE., BEOEHEL) x ok
[PTEIWN £6m XO18m (EHMIBESL., BOEHAEL) x ok
BEAKR EIn_ ERO15em (EiHMIBESD, ROEHAL) x -
BEAKR EIn_ ERKO18cm (EiHMIBESD., RO EHAL) x -
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BAX £8m ERO15em CEiHMIESL, RO EHAL) S -
BAKR R8m XRDO18cm (EHMIBSE. RUEHAL) S -
BAKR Fom  XKO15cm (EHMIBSE. RUEHAEL) S -
BAKR Fom  EKO18cm (EHMIBSE. RUEHAL) S -
BAKR R10m RKO15em GeimmMIBSE. RUEHAL) S -
BHAKR R10m RKO18cm GEimmMIBESL. RUEHAL) S -
ALK R1.8m RO6cm GeinMIBEL, BLEHAL) x ok
ALK R1.8m RO7.6em (EHMIBEL., ROEHAL) x ok
[PTEIWN R1.8m RO9m GiHMIBEL, BLEHAL) x ok
ALK £2.5m KRO12em (GEIHMIBEEL. ROEHAL) x ok
[PTEIWN £2.6m RO12cm GEimMIBET ., B EHGL) x ok
[PTEIWN £2.8m  RKO12cm (GRimMIBET ., B EHGL) x ok
[PTEIWN £3n XRDO6em (ImMIBEEST ., FOEHEL) x ok
[PTEIWN £3.2m  RO12cm (RimMIBET., B EHGL) x ok
[PTEIWN £3.3m RKO12cm (RimMIBET., B EHGL) x ok
[PTEIWN £3.Im RO15cm (RimMIBEL ., B EHGL) x ok
BAKR Fdm XKO6em (EHMIBEL. ROEHAEL) S -
[PTEIWN £5m RO%m (imMIEST ., FLEHAEL) x ok
[PTEIWN £5m XRO12em (EHMIBSL., BOEHAEL) x ok
[PTEIWN £6m XRO%m(HmMIBEST. FOEHEL) x ok
[PTEIWN £6m XO12em (EHMIBESE., BEOEHEL) x ok
BHAKR Em XO12m(EHEMIBSE. RUESHAEL) S -
- AKX (2)

BHAKR £2.0m RKO9em GEiFNT - KL E -HEHZERSD) S -
BHAKR £2.0m RO12cm (FEIHMT - RO E - HEHZEHRED) S -
BHAKR £2.0m RO 15cm (FEIHMT - RO = -HEHZEHRED) S -
BHAKR £2.0m RO18cm (FEIHMT - R E - HEHZEHRED) S -
BHAKR £2.0m RKO21cm (EIHMT - RO = -HEHZEHRED) S -
BEAKR £3.0m RKO9cm GEiFMT - KL E - HEHZERSD) x -
BEAKR £3.0m RKO12cm (EIHMT - RO = - HEHZEHSD) x -
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BAX £3.0m RKO15em GedimI R & -HERZERED) S -
BAKR £3.0m KO18cm CeimmMI B & -HESZEHRESD) S -
BAKR £3.0m KO2Mem GedmmI - B & -HESZEHESD) S -
BAKR £4.0m KRO9em Gl T - RE & -HEFZERST) S -
BAKR £4.0m KO12em GEdHmMI - RO & -HESZEHESD) S -
BHAKR £4.0m KO15em GedmmT - B & -HESZEHRESD) S -
BAKR £4.0m KO18cm GedmmI - B & -HESZEHRESD) S -
BAKR £4.0m KO2Mem GedHmMI - RO & -HESZEHESD) S -
BHAKR £5.0m RO9em G L - KL & -HEFZERSL) S -
BAKR £5.0m KO12em GedHmI - R & -HESZEHRESD) S -
BAKR £5.0m RO 15cm (GEiHMT - RO = -HEFERED) S -
BAKR £5.0m RO 18cm (FEIHMT - RO = -HEHZERED) S -
BAKR £5.0m RO21cm (GEIHMT - RO = -HEFZERED) S -
BAKR £6.0m RO9cm Gl T - KL & -HEHZERSD) S -
BAKR £6.0m RO 12cm (GEIHMT - RO = -HEFERED) S -
BAKR £6.0m RO 15cm (GEiHMT - RO = -HEHERED) S -
BAKR £6.0m RO 18cm (FEIHMI - RO = -HEHZERED) S -
BAKR £6.0m RO21cm (GEIHMT - RO = -HEFZERED) S -
- KR

WER 1@12cm  &2m [E5. 0~6. Ocm m3 -
WER 1@15cm  &3m [E5. 0~6. Ocm m3 -
WER 1Z15cm  fK4m [E5. 0~6. Ocm m3 -
WER 1@12cm  &2m [E3. 0~4. 5cm m3 ook
WER 1@15cm  &3m [E3. 0~4. 5cm m3 -
WER 1Z15cm  fK4m [E3. 0~4. 5cm m3 -
HERIR 1@12cm  &2m [E3. 0~4. 5cm m3 -
HERIR fE15cm  K4m [E3.0~4. 5em m3 -
- M

R#& KYH  6~8mx30.5cm x 30. 5¢m m3 -
N B £4. Omx [E9cm x #F9cm m3 -
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NEE RKYH £3. 0m x [E9c¢m x #F9cm m3 -
ACS: IR £4. Omx [E15¢m x i 15¢m m3 -
[EZ 3cm x 6cm x 4. Om m3 -
[EZ 1. 8cm x 1. 8cm x 4. Om m3 -
EAM  ®1%H) £3m  E9cm E9cm m3 -
EAM  ®1%) R3m E12cm  0&12cm m3 -
EAM  ®1%H) K4m E10cm  #F10cm m3 -
EAM  ®1%H) Rdm E12cm  0&12cm m3 -
EAM  GR1%) £3m  E10.5¢cm  #F10. 5em m3 -
EAM  GR1%) £3m_ f@ibem  [E10.5~12 m3 -
EAM  GR1%) K4m _ f@i5em  [E10.5~12 m3 -
EAM  GR1%) F4m  1§18~24cm/Z10. 5em m3 -
EEM (BE1%H) F4m x [E7. 5em x 1§7. 5em X -
EEM (BE1%H) F4m x [E6. Ocm X #F6. Ocm S *okk
EEM (BE1%H) £2m x [£6. Ocm x 1§6. Ocm X -
EEM (BE1%H) F4m x [E4. 5cm x 1g4. 5em X -
EEM (BE1%H) £3m x [E4. 5cm x 1g4. 5em X -
EEM (BE1%H) F4m x [£9. Ocm x 1§9. Ocm X -
EEM (BE1%H) 0. 6m x [E6. Ocm X #F6. Ocm X -
EEHM 1% £3m_ 184. 5cm  [E4. 5em m3 -
EEHM  (BE1%) f4m  1@4. 5cm  [E4. 5em m3 -
EEHM  (BE1%) £3m _ 186.0cm  JE6.0cm m3 ook
EEHM  (BE1%) fK4m  186.O0cm  JE6. Ocm m3 -
TEH  ®1%H) £3m [E3.0cm  #E10. 5em m3 -
TEH  ®1%H) f4m [E3.3cm _ 1g4. Ocm m3 -
TEH  ®1%H) f4m [E4.0cm  1g4. 5em m3 -
TEH  ®1%H) K4m  [E4.5cm  #F10. 5em m3 -
- Rt
RIER HS5# F4.0m E3. 6cm  1E20cm m3 -
Ri51R (4 £4.0m [E3.6cm __ 1§20cm m3 -
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a9 ) — FRIBRAZESIR S 7 #1800 %900 x 12 ® -
VY ) — FRRRARESIR 27 #1800 x 600 x 12 " -
vy )— rFERAER 7 > (1R B & &BC) 12 x 900 x 1800 " il
vy ) — rFEERAER 7 > (R B & &BC) 12 x 600 x 1800 " -
R 1% £2n [£0.9cm  #F9cm m3 -
R #1%) £2n [E1.2cm  #F9cm m3 -
R 1% £o2n [E2.4cm  iE12cm m3 -
R4 (1%) £2n [E3.0cm _ #E30cm m3 -
R #1%) F4m  [20.7cm  iE21cm m3 -
R 1% K4m [E1.Tem  #F9cm m3 -
R4 (1% F4m E1.3cm  1g4. 5em m3 -
R4 (1% K4m [E1.3cm _ #F9cm m3 -
R4 (1% H4m E1.5cm  1g4. S5em m3 -
R4 (1% F4m  [E1.5cm  HF15em m3 -
R4 (1% F4m  [E1.8cm  HE18cm m3 -
R4 (1% F4m  [E2.4cm  iE21cm m3 -
R4 (R 1%) £2n [E1.5cm  #E15cm m3 -
R4 (R 1%) £o2n [E2.4cm  iE21cm m3 -
R4 (R 1%) £2n [E3.0cm  iE21cm m3 -
R (451 %) Fd4m E1.5cm  #F15~20cm m3 -
R (451 %) Fd4m E3.0cm  #E15~20cm m3 -
R 1. 5cm x 15¢m x 4. Om 4 -
IMER (B 1%) K4m E1.5cm  1F7.9~9. Ocm m3 -
SOVAR (I WkR=+) £1820mm  [E12mm_ #5910mm 4 -
SOVAR (I WkR=+) £1820mm [E15mm _ #§910mm 4 -




